MIAMI-DADE COUNTY, FLORIDA
METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901 FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov/bulding

The Airolite Company

P.O. Box 410

Schofield, WI 54476

ScoPE: This NOA is being issued under the applicable rules and regulations governing the use of
construction materials. The documentation submitted has been reviewed by Miami-Dade County Product
Control Division and accepted by the Board of Rules and Appeals (BORA) to be used in Miami Dade County
and other areas where allowed by the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right
to have this product or material tested for quality assurance purposes. If this product or material fails to
perform in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may
immediately revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA
reserves the right to revoke this acceptance, if it is determined by Miami-Dade County Product Control
Division that this product or material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building
Code, including the High Velocity Hurricane Zone.

DESCRIPTION: Model SCH-601MD Aluminum Louver with and without VCD-40 Damper

APPROVAL DOCUMENT: Drawing No. SCH-601MD, titled “SCH-601MD Louver”, sheets 1 through
21 of 21, dated 08/25/10, prepared by Rice Engineering, signed and sealed by L. David Rice, P.E., bearing
the Miami-Dade County Product Control revision stamp with the Notice of Acceptance number and revision
date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, Schofield, WI
and following statement: "Miami-Dade County Product Control Approved”, unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been
no change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change
in the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of
any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to
comply with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed
by the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then
it shall be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its
distributors and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA # 08-0229.05 and consists of this page 1 and evidence pages E-1, as well as approval
document mentioned above.

The submitted documentation was reviewed by Carles M. Utrera, P.E.

NOA No 10-0921.08

Expiration Date: November 01, 2012
Approval Date: December 16, 2010
Page 1

1]24]10



The Airolite Company

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS
1. Manufacturer's die drawings and sections.
2. Drawing No. SCH-601MD, titled “SCH-601MD Louver”, sheets 1 through 21 of 21, dated
08/25/10, prepared by Rice Engineering, signed and sealed by L. David Rice, P.E.

B. TESTS “Submitted under NOA # 08-0229.05”
1. Test report on Modified Wind Driven Rain Resistance TAS 1 10(A)-95 (Louvers Checklist #
0240), prepared by Architectural Testing, Inc., Test Report No. 79201.01-109-18, dated
02/05/08, signed and sealed by Michael D. Stremmel, P.E.

“Submitted under NOA # 07-0925.02”
2. Test reports on 1) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram of Series/Model EHH-601D, fixed
aluminum louvers, prepared by Architectural Testing, Inc., Test Report No. 74301.01-602-18,
dated 09/04/07, signed and sealed by Joseph A. Reed, P.E.
3. Test report on Standard Test Methods for Tensile Testing of Metallic Materials, per ASTM
E8-03, prepared by Architectural Testing, Inc., Test Report No.74301.02-602-18, dated
09/12/07, signed and sealed by Joseph A. Reed, P.E.

C. CALCULATIONS
1. Structural calculations, prepared by Rice Engineering, dated 09/03/10, signed and sealed by L.
David Rice, P.E.

D. QUALITY ASSURANCE
1. Miami Dade Building Code Compliance Office (BCCO)

E. MATERIAL CERTIFICATIONS
1. None.

F. STATEMENTS :
1. Statement letter of conformance with FBC 2007, issued by Rice Engineering, dated 09/03/1 0,
signed and sealed by L. David Rice, P.E.

2. Statement letter of no financial interest issued by Rice Engineering, dated 09/03/10, signed
and sealed by L. David Rice, P.E.
3. Statement letter of conformance issued by Architectural Testing, Inc., dated 02/08/08, signed

and sealed by Michael D. Stremmel, P.E.
“Submitted under NOA # 08-0229.05”
4. Private labeling agreement dated 10/12/07

Carlos M. Utrera, P.E.

Product Control Examiner

NOA No 10-0921.08

Expiration Date: November 01, 2012
Approval Date: December 16, 2010



NOILVAT 13 O &
AN LTO9HOS Z 25\
| INNOW 3AIFIS Esrae 8¢
ON BDNIMYO av3 m —2<n/n_ll_ MOZ,QI_II_ rrM ,..K_u m m W m m.m N
$s9g90 88 7
L ¢ 40 | 62230 52 3
Jd4AANOT dWLOSHOS O3988% T2 4
‘ON 133HS N ERIREN E N 5 .m o m 2 5 0 M
¥t oLvYS NISNOOSI 0 13LION0S O K 2%5% W Ee w9
31998 wSYIOM DU} 40| 84 93885 £hes
BE35
o/ S, SO S | 388
®
" (=
g S
] B -
M - 11 Lm mub.u
£ | — Y
R R R R wm
x|
O .
B e
= %
<
BE
- o o o s o o v o o o e e v e o o o o o o o WM
£
. l g
e 5 = W
= N
N SN N O I D e i o i ) o o o o o e [ G o o o D e o i MR @ &
& P g
—=
@i! =
u ILII Iu A o o o o o G o e o e v o s o o ot e s o o o o e Wm
N L :
p— 1 |
3
9G1°0 1HOIIH ¥3AN0T TVNLOV “XVW 000°v¥1L 9G1°0 %M
o LHOIZH 3AITIS 40 3AISINO “XYA SLEvhl s Boko s”
1HIIFH ONIN3JO ¥3ANOT




AW LO9HOS

‘ON_9INIMVAT dv3

L¢ 40 ¢

INNOW FT1ONV SNONNILNOD
d3ANOT ANLO9HOS

NOILVAI 14

ON_133HS JLIL
R R
01L0¢/G¢/8 SE[) [
\ uAEH AS NAVYT W Fl_l_@MM v <

RICE

ENGINEERING
105 School Creek Trail
Luxemburg, WI 54217

Phone: 920.845.1042

920.845.1048

Fax:

o

o~

&)

1101..

3 ¥

B ¢

QO

£ 8=
6 89 g
0O ©of W
U o2 3
c £ ©®
o > ..
0 o< o
s ZB o<
0 c
Eowg
(I e R o
o 2S &
V= D2
.n.ﬂDg
o0 g
O da

HORIZONTA

Z|
9
T
Ol
e
)
o)
)
O
|
O

(15
/2

&,

&

8

8

L.

]!
— 1

I

&

¢

R R R R R

J
—
|

J

B

VERTICAL
CROSS SECTIO

0.125 TYP,
TO 0.375

72.000 MAX. ACTUAL
LOUVER WIDTH

11

72.000 MAX. ACTUAL
LOUVER WIDTH

72.000 MAX. ACTUAL
LOUVER WIDTH

UNLIMITED LOUVER OPENING WIDTH

L

fect—

GLE0 Ol
‘dAL G210

1HOIFH ¥3ANOT TVNLDVY "XVN 000°v¥1

1HOIFH ONIN3dJO H3ANOT

GLE0 Ol
‘dAL SZIO

——fe e

0.125 TYP,
TO 0.375

SEP 0 3 2010




TO 0.50

0.250 TYP,
0.156

21
/Y

HORIZONTA

CROSS SECTION

]

¥ | F

3 11
]

| — )

= N

LOUVER OPENING HEIGHT
144.313 MAX. OUTSIDE OF SLEEVE HEIGHT
144.000 MAX. ACTUAL LOUVER HEIGHT

o
o
N
N —
=y N M
=AY =
& L | —
O Z o
&)
<@
nl g =
sl 2 M2 T
==k FQ
2 5 K 2 )
[= T (% I (%) (@]
o
<i_
&5 |
=5 | 5
(@]
o] B
§§:§§Z
st o £33
ogll ¥ ¥ O O
2Eg WL = E
w8l = <
<ol DO Wl
F\gl—ml\oolJ>JLI>J
0 JZLn_Id
L
A 3Y
< = L U
o
©
T
“O
EN
l_

RICE

ENGINEERING

105 School Creek Trail
Luxemburg, W1 54217
Phone: 920.845.1042
Fax: 920.845.1048
www.rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090
L. David Rice

Registration No: 50923 ./ -

0.156

0.250 TYP,

3

—t}=— 0.156

36.000 MAX. ACTUAL

36.000 MAX. ACTUAL
LOUVER WIDTH

LOUVER WIDTH

_o T0 050

owm

(2]
~
(3]

36.000 MAX. ACTUAL
LOUVER WIDTH

OUTSIDE OF SLEEVE WIDTH

UNLIMITED LOUVER OPENING WIDTH

36.000 MAX. ACTUAL

LOUVER WIDTH

CROSS SECTION

36.000 MAX. ACTUAL

36.000 MAX. ACTUAL
LOUVER WIDTH

LOUVER WIDTH




)]
)]
HORIZONTAL Q ~
. = N O
6/2) \&/2) &/2) AN =
— r < 0 N
’T-‘ T i § ¥ § ¥ § F § =] : oS
) ﬂ" ; [Il] l]ﬂ m m ! vl] | 2 ©
a0\ 20T RS
—— s |5 K 2 )
f_ _ a8 lo |»n O
BN, s
j O
9 I 2.2 | =
no i wn<
S0 I =3 O D
1 It gg g @)
I w2 | < =2
I S8 =
! oo 4 z
| )
I odll ¥ O @)
I o3 L1z =
I o8l > < K
i =0=
Iy - (\2 —o~ >
& V(L 0 S w Ll
S D
m § | /200 [l
= - ; (=0 Q
; & i]:’ \4/2) - O 5
£ 2 v (I = Z
2 5 iy png—
= 3 = S =z
% o J © S
<<
I T
§ 3 li» wo ©
8 = “l : m
I i -
3 i
s “:’ RI CE
I ENGINEERING
“| 105 School Creek Trail
“ Luxemburg, Wl 54217
I Phone: 920.845.1042
I Fax:  920.845.1048
] www.rice-inc.com
. I
3 i Floridia Firm No: F-01000005061
no N ) Certificate of Authorization: #9090
o I ()
=0 !i’ L. David Rice
° i Registration No: 50923 yy
W = A w ’
U |
028 et ——— VERTICAL
| 36.000 MAX. ACTUAL ___| | 36.000 MAX. ACTUAL ___| | 36.000 MAX. ACTUAL ___| ’ CROSS SECTION
LOUVER WIDTH LOUVER WIDTH LOUVER WIDTH
L | 36.000 MAX. ACTUAL __| | 36.000 MAX. ACTUAL __| | . 36.000 MAX. ACTUAL __|
LOUVER WIDTH LOUVER WIDTH LOUVER WIDTH
UNLIMITED LOUVER OPENING WIDTH
SEP u 3 2010




HEAD DETAIL

o
1B \ LOUVER HEIGHT < 144 IN. @ —
{EAD DETAL , BUILDING STRUCTURE/DEPTH MAY VARY. w o
o BUILDING STRUCTURES INCLUDE BUT NOT
5 g (1A LOWER HEGHT < 144 N /[ LIMITED TO WOOD FRAME, STEEL STUDS, Q —
S 3 W STRUCTURAL STEEL AND CONCRETE/MASONRY o)
e (BY OTHERS). LN @\ A
EE - =D | oL | =
8 S, 28,78 6" 0.C. 8,/CONNECTI O E o
ssS 8 , ) SPACING . O
S 5 25/ 17-10"
&&.!.T / V fa i Bt ____E wNDm§©
) ? ; : v s [ 5"5 Nz 2 L
i = ~—
3 o — 5 —E— 1 2Ty | 5 O
A25]/ 1 z | |« a ()
S " I E 8 | S
. s SPACING 2
1““’ a J i | I <t
0 ’;‘:‘ I | ALTERNATE REAR WELD LOCATION | -U-”- a.© <
12571 AN | | | .125|,/°0.75 | g% G
SHIE-T | | ]: 2z | T
i % 21| w
! O | 8| S W= .
il (8 |! £2g 5 = 2 0
1 ~ -
’,ﬂ‘ TYPICAL @ BLADES ¢4h\) M1 | | |—_j = ® O é CD) —
GO 28]/ 1 ||| | | omd — = = =<
T Myl | IG4) 1/HEAD,BLADE, SILL | 08l O Ll
S Lo Ll 0O
SyiiiAE | TN =2 6%
I i1 I oz -
¢ & @ D T
: 4% T T
& W @ < S L v
o w 3° ALTERNATE REAR WELD LOCATION 0p)] o)
s a -~y 125/ 0.75"
Q E <0 »” D
n 3 B% 18" 0.C. <
2 SPACING 2 L
= T
-
ENGINEERING
105 School Creek Trail
Luxemburg, Wi 54217
Phone: 920.845.1042
Fax:  920.845.1048
www rice-inc.com
Florida Firm No: F-01000005061
Certificate of Authorization: #9090
L. David Rice
Registration No: 50923
\'L \II ) 25/ 17-10" = //4
A 4|
11 '
0 0 A
™N -
88> 3 G9 6" O.C. 3 WELD PERIMETER s
ao° il 9 8,/CONNECTION
S i SPACING (9) @ CAP 38
e
¢ & 9
E o SILL DETAL BUILDING STRUCTURE/DEPTH MAY VARY.
8§ /\ LOUVER HEIGHT < 144 IN. " BUILDING STRUCTURES INCLUDE BUT NOT
e 2A /| LMITED TO WOOD FRAME, STEEL STUDS, m SILL DETAIL
W STRUCTURAL STEEL AND CONCRETE/MASONRY 28 ) LOUVER HEIGHT < 144 IN. A
(BY OTHERS). 7 6
SEP 0 3 2010




BUILDING STRUCTURE/DEPTH MAY VARY.

LOUVER HEIGHT < 96 IN.

o N\ P ER T EIGHT < 96 IN. | BUILDING STRUCTURES INCLUDE BUT NOT
5o | UMITED TO WOOD FRAME, STEEL STUDS,
S g W STRUCTURAL STEEL AND CONCRETE/MASONRY
R e (BY OTHERS).
o - ]
5 Y7 (0
[Te] LT
e "g’, 9 @ i } 125718 6/CONNECTION
prfi B
S 35 4 25/ 1710
fiy P AL N P e A
F ?7 " A S = T \V
P30 ;
KVEVE |
Sttt
N |l 6" 0.q.
xasss 0 O N SPACING
0 ." | | ALTERNATE REAR WELD LOCATION
12571 N ! @ .125],70.75"
2 =@
' ',ﬂ‘ TYPICAL © BLADES
e A25[/ 1
2571
-3
© E ow
£ 4 £a ALTERNATE BLADE REAR WELD
w [72] -
o xn
(] w oy
o DLO"
=
2 n a2
o = <
3 3 2%
e
i
| “ ST =
& %J 12502 1/27 AT/ T=10" § :r_
L ——r —
A L' -~ =. = —
e s /
0 o N -
.'7, n (=}
g o ::_ 6,/CONNECTION
o L
g @/
E E BUILDING STRUCTURE/DEPTH MAY VARY.
9 & L~ BUILDING STRUCTURES INCLUDE BUT NOT
c°© SILL DETAILL | LIMITED TO WOOD FRAME, STEEL STUDS,

STRUCTURAL STEEL AND CONCRETE/MASONRY
(BY OTHERS).

HEAD DETAIL

7o

LOUVER HEIGHT < 96 IN./@@}@

I

(e

§ WELD INTERIOR

@ CAP

SiLL DETAIL
LOUVER HEIGHT < 96 IN.

@ o
O
N
N —
& N O
="\
5 00 L | E
O e,
% ; z ©
> Ll NE © |2 T
ZEL.J‘_L_J g O
SR E RO
/ %] %] [&]
:LO
.o )]
o ] 25 v
| €z | T
1 wen D2 T
—INTERIOR 28133z 9
5 2 =
@ CAP dég;?ﬂéog
S OF S
3R Ll
(0\2'_ E O >
o <
©$HD
< L
- O
O 3
O
/ N
wl L
o T
e :
ENGINEERING

105 School Creek Trail
Luxemburg, WI 54217
Phone: 920.845.1042

Fax: 920.845.1048
www rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090
L. David Rice
Registration No: 50923

SEP 0 3 2010

”H{,a,/h

3

ST STATE OF ﬁf\?

W it
) i




O
e
O
N
D) Ny
9 ~N | o
'—
s UDNER HEIGHT < 144 IN. ) /\ LOWVER HEIGHT < 96 N, g_ 5 L 2
W W O 5 v
= O
MULLION DIRECT MOUNT (SHOWN HERE AT mgk[‘)-')ot‘s D;cR)ECTSU“gouNTTSHS:’E‘R:ESIE"GLM 2 WO
HEAD) IS FOR SUBSTRATES WHERE MINIMUM SUBSTRATE LIMITED TO WOOD, STRA n 3 =
TR GaITED, 1 WoaD. o FASTENER 'EDGE DISTANGE CAN DE ACHIEVED STEEL, CONCRETE AND meme e | S D D CALLON END CAF ~w| ME S 2 T
\ TenGEE > BY USE OF HOLES IN THE MULLION END CAP. MASONRY (CMU) (BY OTHERS). DISTAN BY USE OF HOLES IN THE MULLION END CAP. = o
> [0
MASONRY (CMU) (BY OTHERS). DETALL IS TYPICAL FOR BOTH HEAD AND SILL DETAIL IS TYPICAL FOR BOTH HEAD AND SILL ==l |- ® O
CONDITIONS WHEN APPLICABLE. CONDITIONS WHEN APPLICABLE. zZ 2 o a N
oz (] T <C
@ a8 o |» )
i i /® /@ -
n L L : . V “d_ =
1—_ @9/ 81 | h" o PN 1_ 12571 IT et a2 © Ed-g%
0 14 oS
: rt l s H i e el geimon I I S — v
e 1 | l | l = | 125[/ 0.7 Bm o \/I T
. 18" 0.C. z|
5 T | ARt o ! £ seacie €928 \@ -Jj j% s T
8 3 -
- o >
o 2 ° _C&))‘— ~ U
@ BLADES | ogll 1 O Z
& ! | o °g8 — Z = O
T8 1,/BLADE,HEAD, SILL | 1/BLADE HEAD,SYL 22) O < W o
l rxg =3 = Q
: 3§ s § 0 e B
P . . | o 2 —
| E ALTERNATE_REAR WELD| LOCTjON O O ﬁ W)
g ALTERNATE REAR WELD LOCATION I 3 125/ 0.75 T DO W0
- 128,/075 P
é 18" 0.C. I g O Z &
SPACING | N = 3
’ 2} Z Q
@ || O Qg
| 4 O gu
,/® | /@ /® O ™ @) = T -
2 | 2 =
3 3
e | : RICE
: 5968 5/en0 E- Lo@een
: | g //@ ENGINEERING
L] p— .
i A ' i 105 School Creek Trail
7 I Luxemburg, WI 54217
Y Phone: 920.845.1042
\ \ Fax: 920.845.1048
EXCESS MATERIAL BEYOND FASTENER EXCESS MATERIAL BEYOND FASTENER www.rice-inc.com
EDGE DISTANCE IS ALLOWED TO BE
EDGE DISTANCE IS ALLOWED TO BE SUBSTRATE LIMITED TO WOOD, . . .
SUBSTRATE LIMITED TO WOOD, y REMOVED (THIS LEG ONLY). STEEL, CONCRETE AND 3 REMOVED (THIS LEG ONLY). Florida Firm No: F-01000005061
STEEL, CONCRETE AND Certificate of Authorization: #9090
MASONRY (CMU) (BY OTHERS).
MASONRY (CMU) (BY OTHERS). L. David Rice
s < Registration No: 50923 oy
] MULLION ANGLE MOUNT (SHOWN HERE AT SILL)
< .“é”?%3%3’3%&%‘%”%éﬁ?%ﬁ;&'ﬁﬁﬂﬁé@&é& IS FOR SUBSTRATES WHERE MINIMUM FASTENER
EDGE DISTANCE CANNOT BE ACHIEVED BY USE EDGE DISTANCE CANNOT BE ACHIEVED BY USE
OF HOLES IN THE MULLION END CAP. DETAL
< —p  OF HOLES IN THE MULLION END CAP. DETAILL j &
IS TYPICAL FOR BOTH HEAD AND SILL IS TYPICAL FOR BOTH HEAD AND SILL N
| | CONDITIONS WHEN APPLICABLE. | | CONDITIONS WHEN APPLICABLE. 3
m COUVER HEGHT < 144 N, m COUVER R HEGHT < 96 IN. § * i
72 772 -

Tr\ ;. _;
S ow\"‘j‘.‘.

'

tTN
GBsppeucantt

k"i@MAL \
)
“'itrnein\\\\\

SEP 0 3 2010




12" 0.C.
SPACING

ia

STRUCTURAL STEEL AND CONCRETE/MASONRY

(BY OTHERS).

/@

LIMITED TO WOOD FRAME, STEEL STUDS,

BUILDING STRUCTURE/DEPTH MAY VARY.
BUILDING STRUCTURES INCLUDE BUT NOT

]

< W)

A

s

125]/ 1°-8
3 6” 0.C.
SPACING
U
-
-
6" 0.C.
SPACING

008

I

12525

13

< W

1/

Py 1141

L=

BLADE,HEAD,SILL

0.156 —

0.125 TYP, TO 0.375 —

ACTUAL OVERALL LOUVER WIDTH,

l=—— ACTUAL LOUVER SECTION WIDTH, ———

INSIDE OF SLEEVE

[~+~——-——— OUTSIDE OF SLEEVE
=——— LOUVER OPENING

m JAMB DETAIL

/2

SUPPORT DETAIL
LOUVER HEIGHT < 144 IN.

o
O
~
N —
& N -
=\
& 00 LI_:':E
O =
= O
%) ; z ©
xw| ©F O |z T
==y b £ Q
W &5
=<3
Sz |
= =
o
g3 5 s z Y
i3 o< 2=
g9y — ¥ O =
oF R
© Q
n?fégzu-lm
0 — 9O >m
oZLl_Iz
© g4I
ILl_d—D
N O
N
L
|
=
F—
ENGINEERING

105 School Creek Trail
Luxemburg, W1 54217
Phone: 920.845.1042

Fax: 920.845.1048

www rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090
L. David Rice

Registration No: 50923 ¢/ _»~

AR X T

/ % ig"";
SEP 0 3 2010 rg,

Wi,
\! T y
\\\\\ Q?\\Jﬁﬁ .

N Y/
N W
o \f W 4
N o 4
S 5 \(:i o

an o
------------




SUBSTRATE LIMITED TO WOOD,
STEEL, CONCRETE AND MASONRY

(CMU) (BY OTHERS).

AN

N

C::::&r

ALTERNATE ORIENTATION — i

(CAUTION, BOLT CLEARANCE)

(3491 /BLADE,HEAD,SILL

0.75 MAX
1T [ 7
0.75 MIN 6" O.C.
P — SPACING
-

—09
—©®
¥.125‘|7ﬁ'_

20000r00008R

s

oL

0.125 TYP, TO 0.375 ——

ACTUAL OVERALL LOUVER WIDTH,
ACTUAL LOUVER SECTION WIDTH

LOUVER OPENING

JAMB DETAIL

m LOUVER HEIGHT < 144 IN.

o

SUPPORT DETAIL
/12" LOUVER HEIGHT < 96 IN.

SEP 0 3 2010

O
N
~ —
< N -
ANy =
5 00 L |, —
o =
s 3
" : Z
xul (-\!% o) i L
==y B Q
< << LiJ 9: (/)
g 9 o S
|__
L
23 5
gz | x O
2|lu=
= n
S8y D w2
d%eﬁ So £
<2Hs z Lo
2eg 2 < O
— o~ E
(07 -9 o
@) =
©o O <
o T D )
O Z
N =
prd
@)
@)

RICE

ENGINEERING

105 School Creek Trail
Luxemburg, WI 54217
Phone: 920.845.1042
Fax: 920.845.1048
www rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090
L. David Rice
Registration No: 50923

N
W

4 7 31,%;/\(:5‘;{ \E; "“\,@ &)
/% ORAL Tl

Mgt




@
15
© ‘\\}:>

/
8/CONNECTION
e @ 1O | QN @ sse
10| Oyl @
7 /|
o0/
[/ A e }@
2K
/] .
6" 0.C. 4 ); 3
SPACING ™ — /|||

a0

<1\

T
P
y
y
4

%wvz?—
—G9

e sUUUUOUUUN e (UL \§
: EE N\
00000R é}
é <

o=

\ EXPANSION JOINT OF UP TO 0.25 MAY
BE USED ON LONG OVERALL WIDTHS.

@
&

ACTUAL LOUVER SECTION WIDTH

6\

+——— ACTUAL LOUVER SECTION WIDTH

ACTUAL OVERALL LOUVER WIDTH

MULLION DETAIL
m LOUVER HEIGHT < 144 IN.

18" 0.C.
SPACING

2)e8~

6,/CONNECTION

6" 0.C.
SPACING

—{ MAX. 4.250 |=—

125)/°2.5

8/25/2010

DATE

10 OF 21

MES
1:2
CAD DRAWING NO.

SHEET NO.

SCH601TMD

DRAWN BY
SCALE

The look that worksm™
SCHOFIELD, WISCONSIN 54476
715-359-6171

SCHE0TMD LOUVER

ROIUNM =

FLANGE FRAME
SLEEVE MOUNT
MULLION DETAILS

Q
of

ACTUAL LOUVER SECTION WIDTH

138

ACTUAL OVERALL LOUVER WIDTH

MULLION DETAIL
LOUVER HEIGHT

ACTUAL LOUVER SECTION WIDTH

EXPANSION JOINT OF UP TO 0.25 MAY
BE USED ON LONG OVERALL WIDTHS.

ENGINEERING

105 School Creek Trail
Luxemburg, W! 54217
Phone: 920.845.1042
Fax: 920.845.1048
www rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090
L. David Rice -
Registration No: 50923,

Vi

< 96 IN.

PRODUCT REVISED

SEP 0 3 2010

> i/ e DA
f/ib:iQNAL € o

7
-~ "“Hu”u;i\\\




AN LOIHDS JYLSH ‘STIVLI3IA NOITIN nNu m N\
Nsrae S N
'ON_ONIAYYQ 0¥D . RESS3 ¢ g9 2,
¢ - s
7 10 L1 INNOW JTONY SNONNILINOD M%mﬁm 88 g
0%22¢ 52 3 LT
dIANOT ANLO9HOS B3O8 5 r.rm > iz
'ON_133HS 3ILIL =28, & 93 2 ==
= 1ZT9~6G5—G1Z nﬁu g % §2 .3 £98¢ Fad 3
G'¢1 9L¥¥S NISNOOSIM ‘TT3140HOS C 0 X 0¥ W Elw g SRR
7557 ERLAN SHIOM 1DU] %00| ay| 23£25 ©8u% N L
0102/S¢/8]  Sam A H SE8E 7, wERN
31va AL NAYAT =L _v_@MM v < 9838 KRN
N\
H10M d3ANOT TIVYIA0 WNUOV
HIQIM NOLLO3S M3ANOT TWNLoV HIQIM NOLLO3IS ¥3ANOT TVNLOV
'SHLJIM TIVY3A0 ONOT NO g3sn 38 m
AVN SZ°0 OL dn 40 INIOP NOISNVJIX3 WHWV WH v [aV]
3
_Hmﬁ_ T o
q_ /A@ &
- N
Sz sel
®
@ ONIOVdS m
M 20 .9 Jr
ES
T WH
8
O O O O O O O O P
MV m - 1008 MNISVS
_F__ A __#__@®1__ _ _ _ 8 __ 8 _ N . 2 .
R = A M%Nlnh L R 7 Eﬁ T T T T T T T n T o

d3 3Jlvylsans

|

1118

I

A
WSS, 1l

=i

ONIOVdS
‘00 .8l

69

ana/s

"318voNddY N3IHM SNOILIANOD

TINS OGNV QV3H HLIOE ¥04 IvOIdAL SI

VI3a  "dvO ON3 NOITINW 3HL NI S310H 40
ASN A8 Q3A3IHOV 38 LONNVD 3JONVLISIJ 3903
YINILSVL WNNWININ JYIHM SILvaLsSans d04 S!
(TS _Lv 3¥3H NMOHS) INNOW 319NV NOITINW

HIGIM NOILO3S ¥3ANOT “WNLOV

HIGIM HIANOT TIVY3A0 “IWNLOV

‘SHLAIM TIVY3A0 ONOT NO Q3sn 38
AVA GZ°0 OL dn 40 INIOr NOISNVdX3

HIGM NOLLD3S ¥3ANO0T “IVNLOV

LT

9

B

®
o

ONIOVdS
00 .9

3003 31vdlsdns

=

MAX. 4.250

AN NN NN NN

OO NN NN NN NN NN

MULLION DETAIL
m LOUVER HEIGHT < 144 IN.

JONVISIO
3903 Y3INALSVH

9¢) ONIOVdS
00 .81

&%

‘318v0INddY NIHM

SNOILIONOD T1IS ANV Aav3H HLOE Y04 TvOIdAL
SI Ivi3d  "dvQ AN3 NOITINW 3HL NI SIT0H
40 3SN A9 Q3A3IHOV 38 NVD 3J0NvISId 3903
HINILSVA WNWININ JY3IHM SIT1vdLSENs ¥04 S
(TIS Lv 3¥3H NMOHS) INNOW 1O3MIQ NOMINW




L96>H ‘STIVIIA NOITINW &) & ,
ONLO9HOS S ,M
ON_ONIAVAT Qv3 SECES -
L7 40 71 INNOW FTONV SNONNILNOD M mWﬁww m.m 8 2
MIANOT AWLOIHOS Sgosss 15 ° :
ON_133HS __ U i 585 ¢ 2542 E
G¢-l oL¥YS NISNOOSIM T3HONDS @) X 2 mm X W Eowyg
39S <SHIOM 1D} %0O| 8y] | B3£2F BT
102/S2/8]  SIN 7\ e
oroz/ uﬁé AS_NAVYT = L r_l_@MM v/ N < 5358 G

HIGIM NOLLO3S ¥3AN0T TVNLOV

HIGIM ¥3ANOT TVABA0 TVNLOV

‘SHLAIM TIVY3A0 ONOT NO d3asn 39
AVAN GZ°0 OL dn 40 INIOP NOISNVdX3

Nl

HLGIM NOLLO3S ¥3ANOT TVNLOV

€

[iad]
[

R4 AN

€

H{— MAX. 3.500

g
"o

PRUDUCT REVISED

@ z

8

ONIOVdS ¥

M ‘00 9 &

[

¥

g '
s

S

MULLION DETALL

f —

|

JONViSIQ
3903 ¥AN3LSVY

.

nit

3003 31vdlSENns

&

—
&

% ONIOVdS
00 .81

aN3/9

"318v0ddv NIHM SNOILIONOD

TUS ANV QVIH HIO08 ¥O04 TTVOIdAL SI

Vi3 "dvO dON3 NOIINW 3HL NI S310H 40
3SN A8 J3A3IHOV 39 LONNYD 3JONVISIG 3943
J3INILSYd WNNWININ JH3HM S31v¥1SENS d04 SI
(IS Lv 3¥3H NMOHS) INNOW F19NV NOITINW

HLOIM NOLLD3S ¥3ANOT WALV

AVN GZ°0 OL dn JO LNIOr NOISNYdX3

HLOM ¥3AN0T TIVAEAO TWNLOVY

‘SHLAIM TIVY3A0 ONO1 NO @3sn 38

HLOIM NOLLD3S ¥3ANCT VNIV

) & ONIOVS
W\@ 20 49

JONVISIO

MULLION DETAL
m LOUVER HEIGHT < 96 IN.

3003 ¥IN3LSVS

/
3903 u._.<w_._.mm_3m\ @\ a\ | |
&

% ONIOVdS
‘00 .8l

I79VONddY NIHM
SNOILIONOD TS OGNV Qv3H H108 ¥04 IWOIdAL

SI TVL3d  "dvO GN3 NOITINW 3HL NI S3TOH
40 3sn A9 Q3A3HOV 38 NVD 3ONVISIA 3903
YINILSVY WNWINIA JYTHM SILYH1SANS H¥O04 S
(TS 1v 3¥3H NMOHS) INNOW 193d1d NOITINW




(@)
(@)
S| -
Te) Q\ =
LLIQ
'—
< 00 L =
m LOUVER HEIGHT < 144 N, HEAD DETAIL O g
w m LOUVER HEIGHT < 144 IN, = @)
13/21 S ]
U n| © 5 M E ©
24 NZ — = T
=Ll B O
T |5 & 2 ()
a | |» O
: -
- ; o E
6" 0.C.
SPACING @\ 6" 0.C. . < % —
SPACING Mz L o 2
<5 Q=20
gz O = _
12" 0. 2 < L <
BN —35
o > bl =
SPACING £6- = L J Ll
= Ll O 0
X9 =
S3g X »
=gal ] < _
L ™| \
R LS
r\gﬁo" > = 0 n
0 w5 3
= >
N < =
L — <
O Ll T
O O 8
W5 Z
20 o B
’—-
ENGINEERING
105 School Creek Trail
6" 0.C. 12" 0.C. Luxemburg, WI 54217
SPACI(F\:IG @&@ SPACING Phone: 920.845.1042
R oc %@ Fox:  920.845.1048
\ NA 12" 0.C. www.fice-inc.com
ﬁ @ SPACING \ SPACING
jl mﬁﬂ Florida Firm No: F-01000005061

Certificate of Authorization: #9090
L. David Rice
Registration No: 50923

) {

SILL DETAIL SILL DETAL
m LOUVER HEIGHT < 144 IN. m LOUVER HEIGHT < 144 IN.

, ‘ o
f igt;;“ A
SEP 03 2010/ “i13y ON




)]
O
g —
§ ug N o
0 9l s S
3 A
\|\/l’ i 8
- Z
\ / MANUAL QUADRANT ACTUATOR AS SHOWN zﬁu'—m & O
7 NOTE: DAMPER MAY BE OPERATED BY 2 g | a )
0 17 MANUAL QUADRANT, AN ELECTRIC OR 82 _lo @ =
@ \ PNEUMATIC ACTUATOR.
28 %
29 U] %5 O
Q= —
]:' %% | <
58 | W -
Sa-| O —
Bl <
0) 5] 2
=25 O -
e 3
5 2
N > 35
Pl
<
<) =
Ll
=
|_
RICE
ENGINEERING
105 School Creek Trail
Luxemburg, WI 54217
Phone: 920.845.1042
Fax: 920.845.1048
www rice-inc.com
Florida Firm No: F-01000005061
Certificate of Authorization: #9090
L. David Rice
Registration No: 50923

ACTUATOR DETAL
@ m LOUVER HEIGHT < 144 IN.
R

3/ACTUATOR ASSY. AND 12" 0.C. THEREAFTER vz )
ALONG LENGTH OF ANGLE ITEM #44

L1 FITTP
‘AR

1 &9 “""'-n..uu""‘ . o
7, SIONAL S

”llnnnm\“‘\

SEP 0 3 2010




/@

/@)

-

8" 0.C!
?PACIN(

18

~—®

{_'ﬁ

TO INSIDE OF SLEEVE ———

. ACTUAL OVERALL LOUVER WIDTH,
ACTUAL LOUVER SECTION WIDTH

0125 TP, TO 0.375-—7 f@————TO0 OUTSIDE OF SLEEVE ~——

JAMB

21\ LOWER HEIGHT < 144 IN,

Mg LOUVER OPENING

DETAIL

vCD-40

EHH-601D

8/CONNECTION

o

© © of

va

A S S

6" 0.C.
SPACING

SULHOOOULTS

-

——— ACTUAL LOUVER SECTION WIDTH

EXPANSION JOINT OF UP TO 0.25 MAY
BE USED ON LONG OVERALL WIDTHS.

ACTUAL LOUVER SECTION WIDTH

ACTUAL OVERALL LOUVER WIDTH

MULLION DETAIL
224\ LOUVER HEIGHT < 144 IN.

VCD-40

EHH-601D

18" 0.C.
SPACING é@

6/CONNECTION

6" 0.C.
SPACING

T

“\\__ EXPANSION JOINT OF UP TO 0.25 MAY
BE USED ON LONG OVERALL WIDTHS.

———— ACTUAL LOUVER SECTION WIDTH ———o»f——— ACTUAL LOUVER SECTION WIDTH ——

ACTUAL OVERALL LOUVER WIDTH

MULLION DETAIL
@ LOUVER HEIGHT < 96 IN.

18/21

SEP 0 3 2010

O

@)

N —

N

’_

S 0 Lo =
O g -
°Eg

(j) - =

g DB T

> o

2 T I SR
)
< wn

5| A4 =

X%

so | O —

]:I;'g> =

Bl=4Yt

S2¢ S £

¥ . 238

S8l r o O O

L L e s 4

O =S

=8 2 W oy 2

18 ¢g 52

L
A 352
< ELI—(/)<
) Mm
© =
L <
4O -
=)
—

RICE

ENGINEERING

105 School Creek Trail
Luxemburg, WI 54217
Phone; 920.845.1042
Fax: 920.845.1048
www rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090
L. David Rice

Registration No: 50923 /. A




12" 0.C.
SPACING

< ==3H]
ALTERNATE ORIENTATION — ||
(CAUTION, BOLT CLEARANCE)

SUBSTRATE UMITED TO WOQD,
STEEL, CONCRETE AND MASONRY
(CMU) (BY OTHERS).

—ty
(il

l ACTUAL OVERALL LOUVER WIDTH,
0.125 TYP, TO 0.375 —od 'ACTUAL LOUVER SECTION WIDTH

VCD-40

EHH-601D

MULLION END CAP NOT SHOWN FOR CLARITY

18" 0.C.
SPACING

GK Q 1l SRR

Z

I
I
[
I
AMNAV. NN NANN

3N

NABARAMARNAY

§

6" 0.C.
SPACING

=) /]
— H

%@

E USED ON LONG OVERALL WIDTHS.

@(l ’: EXPANSION JOINT OF UP TO 0.25 MAY
— ACTUAL LOUVER SECTION WIDTH

ACTUAL LOUVER SECTION WIDTH

ACTUAL OVERALL LOWER WIDTH

MULLION DETAIL
m LOUVER HEIGHT < 144 IN.

&

VCD-40

EHH—-601D

MULLION END CAP NOT SHOWN FOR CLARITY

18" 0.C.
SPACING

6" 0.C. ®/
SPACING

SN |

E%

p—~ 0,250

~——— ACTUAL LOUVER SECTION WIDTH

248

ACTUAL OVERALL LOUVER WIDTH

ACTUAL LOUVER SECTION WIDTH

MULLION DETAL
LOUVER HEIGHT < 86 IN.

&

SEP 0 3 2010

8/25/2010

DATE

16 OF 21

MES
1:3
CAD DRAWING NO.

SHEET NO.

SCHEeO1TMD

DRAWN BY
SCALE

=

The look that works™
SCHOFIELD, WISCONSIN 54476

715—-359-6171

RO

SCHB601MD LOUVER W/VCD—-40
CONTINUOUS ANGLE MOUNT
JAMB AND MULLION DETAILS

TITLE

RICE

[ ENGINEERING

105 School Creek Traii
Luxemburg, WI 54217
Phone: 920.845.1042
Fax: 920.845.1048
www rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090

L. David Rice
Registration No: 50923 /7.

\\\\“H‘““!‘”i”

\ . R fgf ,f ‘5
N
=
% ST
< NERSN
5 LORW LGNS
7 - % N
4 % AN
2 \‘\\

(s
4,
i




NOTES:

1. OTHER SHAPES MAY APPLY PROVIDING THEY ARE
SIMILAR TO THOSE SHOWN AND HAVE CORNER
CONSTRUCTION AS DESCRIBED ON ALL SHEETS.

2. ALL SHAPED LOUVER PANELS ARE RESTRICTED TO
THE SAME PANEL WIDTH AND PRESSURE AS THE
RECTANGULAR LOUVER PANELS AND MAY BE STACKED
VERTICALLY AND HORIZONTALLY THE SAME AS THE
RECTANGULAR PANELS.

3. WHEN SECTIONS EXCEED 36" IN LENGTH BLADE
SUPPORT ANGLE AND BRACKETS ARE REQUIRED.

AVAILABLE SHAPES

D (D

=
£
A

AN

=

A\

SEP 0 3 2010

o

o

Q —

L‘JC\I

< o | =

D‘ )
@) z 8
=

o g™ E T

m ) &

= g FQ

s 5 & g V)

[=] [%2] (%) (8]

] %5
=3 g
(@]

i ] Dt
BlS e o
N ) @) <

R > T

E['égc;, S %
Lw

@ng 0 Q Lt

N~ 1
?2'_ = = m
o O <
©o Z =
< T < <>':
@) <C
N
( =
L
i |
'_
=
ENGINEERING

105 School Creek Trail
Luxemburg, Wl 54217
Phone: 920.845.1042
Fax: 920.845.1048
www rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090

L. David Rice
Registration No: 50923 / A




ITEM DESCRIPTION MATERIAL NOTES ITEM |CONCRETE[ CMU [STEEL[wOOD] MIN. | FASTENER TYPE ALL FASTENERS ARE STEEL OR STAINLESS o
1 LOUVER HEAD 6063-T5 ALUMINUM S2 | JAMB PERIMETER ANGLE FASTENER, HEIGHT <=144 DIAMETER| # RQD. |CENTERS| EDGE [EMBED.* 5
2 LOUVER BLADE 6063-T5 ALUMINUM 2125 MAX. SPACING S52A X 2KSI *POWERS WEDGE BOLT’ 3/8 | VARIES| 6.00 | 1.215 | 3.500 ~
3 LOUVER SILL 6063-T5 ALUMINUM S2B X 4KSI *POWERS WEDGE BOLT” 3/8 |VARIES| 600 | 1215 | 3.500 N A
4 LOUVER JAMB 6063-T5 ALUMINUM 5ec X 2KSI SCOTS TAPCON / TAPCON 1/4 |VARIES| 475 | 1500 [ 1.750 T} N a
5 LOUVER/DAMPER FLANGE 6063-T5 ALUMINUM 52D X 4KSI SCOTS TAPCON / TAPCON 1/4 | VARIES| 600 | 1500 ] 1730 L N
6 FORMED SLEEVE 5052—-H32 ALUMINUM 1/8” FORMED SLEEVE-DEPTH VARIES SeE X 1,5KSI SCOTS TAPCON / TAPCON 1/4 | VARIES| 3.00 | 1500 | 1750 'Z-\ L >
7A 11/2 X 1 1/2 X 1/4 ANGLE 6063-T5 ALUMINUM BLADE SUPPORT ANGLE S2F X 65KST Fy[BOLT/NUT OR TAPPING SCREW]| 1/4 |VARIES| 6.00 | 0500 | 0125 = 0 s e—
7B 11/2 X 1 1/2 X 1/4 ANGLE 6063-T5 ALUMINUM USED AT HEAD/SILL/JAMBS OF SLEEVE| | 52G X | SG 0.42 LAG 3/8 |VARIES| 6.00 | 1500 [ 2375 O g
8 11/2 X 6 X 1/8 ANGLE 6063-T5 ALUMINUM JAMB ANGLE 53 | MULLION END PLATE FASTENER, HEIGHT <=144 DIAMETER| # RQD. |CENTERS| EDGE |EMBED.* - O
9 11/2 X 1 1/2 X 1/8 ANGLE 6063-T5 ALUMINUM USED AT HEAD/SILL/JAMBS OF LOUVER] | S3A X 2KSI *POWERS WEDGE BOLT’ 3/8 8/END | 150 175 | 3.500 z O
10 11/2 X 1 1/2 X 1/8 ANGLE 6063-T5 ALUMINUM USED AT HEAD/SILL OF SLEEVE FLANGE| [ 53B X 4KSI *POWERS WEDGE BOLT” 3/8 8/END | 150 1.75 | 3.500 . & d 00 3 T
11 3 X 6 X 5/16 STEEL TUBE A36 53C X 2KSI SCOTS TAPCON / TAPCON 1/4 9/END | 2.00 150 | 1625 B Z — z
12 11/2 X 1 1/2 X 1/8 ANGLE 6063-TS5 ALUMINUM USED AT SILL AS BACK OF SILL PAN S3E X 4KSI SCOTS TAPCON / TAPCON 1/4 8/END | 2.00 150 | 1.625 =z |- g5 O
13 LOUVER BLANK OFF 6063-T5 ALUMINUM IF REQUIRED, SPANS SILL OPENING S3F X 65KSI Fy|BOLT/NUT OR TAPPING SCREW| 1/4 8/END | 1.00 050 | 0125 Z |2 w, a N
14 DAMPER HEAD/SILL 6063-T5 ALUMINUM 53G X | SG 0.42 LAG 3/8 7/END | 150 1,75 | 2.375 | GROUP ¥ |19 T S
15 DAMPER JAMB 6063-TS ALUMINUM S4 | MULLION ANGLE MOUNT FASTENER, HEIGHT <=144 DIAMETER| # RQD. |CENTERS| EDGE |[EMBED.*/CENTER
16 DAMPER BLADE 6063-T5 ALUMINUM 375 MAX. SPACING S44 X 2KSI *POWERS WEDGE BOLT’ 3/8 |12/ANG.| 3.375 | 2250 3.500 | 3.766
17 DAMPER BLADE SEAL SILICONE/RUBER TYPE MATERIAL VARIES S4B X 4KSI *POWERS WEDGE BOLT’ 3/8 | 9/ANG. | 3.375 | 2.250 | 3500 | 3.766 —
18 DAMPER JAMB SEAL SS 54C X 2KSI SCOTS TAPCON / TAPCON 1/4 | 32/ANG.| 2.000 | 1500 | 1750 | 3375 © —
19 DAMPER TOP/BOTTOM CLOSURE ALUMINUM 54D X 4KSI SCOTS TAPCON / TAPCON 1/4 |27/ANG.| 2000 | 1500 | 1.750 [ 3.375 m_r AN 3 —
20A DAMPER LINKAGE BAR GALV. STEEL S4E X 1,5KSI SCOTS TAPCON / TAPCON 1/4 | 32/ANG.| 2000 | 1500 | 1.750 [ 3375 =3 O o) <
20B DAMPER LINKAGE BAR SS S54F X 65KSI Fy|BOLT/NUT OR TAPPING SCREW| 1/4 [16/aNG.[ 1000 | 0500 | 0425 | 3.600 gz < o
214 DAMPER AXLE BUSHING DELRIN 54G X 65KST Fy|BOLT/NUT OR TAPPING SCREW| 1/4 [11/ANG. [ 1000 | 0500 | 0188 | 3.000 7] xr | = W
21B DAMPER AXLE BUSHING BRONZE S4H X 65KSI Fy|BOLT/NUT OR TAPPING SCREW| 1/4 |16/ANG.| 1000 | 0.500 | 0.88 | 3.766 o8 T —
21c DAMPER AXLE BUSHING SS 541 X 65KSI Fy|BOLT/NUT OR TAPPING SCREW| 5/16 [12/ANG.| 1000 |0.625| 0425 | 3.000 _.-Egg > O U <
22A | NON-DRIVE DAMPER AXLE ASST, [ZC STEEL PIN W/DELRIN BUSHING 54J X 65KSI Fy|BOLT/NUT OR TAPPING SCREW| 5/16 |16/ANG.| 1000 [o0625] 0125 [ 3766 |£ ~ .© = > 2D =
22B | NON-DRIVE DAMPER AXLE ASST. |ZC STEEL PIN W/BRONZE BUSHING 54K X | SG 0.42 LAG 3/8 |16/ANG.| 1500 | 1500 | 2.875 | 3.766 ogl 9 O
22C | NON-DRIVE DAMPER AXLE ASST. | ZC STEEL PIN W/ SS BUSHING S4L X | SG 0.42 LAG 3/8 | 11/ANG. | L500 | 1500 | 2875 | 3.000 Ly O D L
22D | NON-DRIVE DAMPER AXLE ASST. | SS PIN W/ DELRIN BUSHING 55 | MULLION END PLATE FASTENER, HEIGHT <=96 DIAMETER| # RQD. |CENTERS| EDGE [EMBED.* o8l O ~ Z o
22E | NON-DRIVE DAMPER AXLE ASST. | SS PIN W/ BRONZE BUSHING 554 X 2KSI *POWERS WEDGE BOLT’ 3/8 S/CAP | 150 16 | 3.500 =8 = = ]
22F | NON-DRIVE DAMPER AXLE ASST. SS PIN W/ SS BUSHING S5B X 4KS1 ’POWERS WEDGE BOLT’ 3/8 S/CAP | 150 1.6 | 3.500 6\2 = Z
23A | DRIVE SIDE DAMPER AXLE ASST. ZC/GALV. STEEL 55C X 2KSI *POWERS WEDGE BOLT’ 3/8 S/CAP | 2.0 1,75 | 3.500 a0 =
23B | DRIVE SIDE DAMPER AXLE ASST. SS 55D X 4KSI *POWERS WEDGE BOLT’ 3/8 S/CAP | 200 1.75 | 3.500 O = O m
244 1/4 DIA. E-CLIP zP SSE X 2KSI SCOTS TAPCON / TAPCON 1/4 6/CAP | 2.00 150 | 1750 ©0 < N
24B 1/4 DIA, E-CLIP - SS SSF X 4KSI SCOTS TAPCON / TAPCON 1/4 6/CAP | 2.00 150 | 1750 N L L n
25 #8 X .75 TPH TYPE AB SMS SS 55G X 65KSI Fy|BOLT/NUT OR TAPPING SCREW[ 1/4 3/CAP | 100 050 | 0125 O ~ > E
26 #14 X .75 TEK ZP S5H X | SG 0.42 LAG 3/8 S/CAP | 150 1.75 | 2375 | GROUP % = (ul O
274 1/4-20 X 125 HH CS zP S6 | MULLION ANGLE MOUNT FASTENER, H<=96 DIAMETER| # RQD, [CENTERS| EDGE [EMBED.*|CENTER | =
27B 1/4-20 X 15 HH CS SS S6A X 2KSI *POWERS WEDGE BOLT” 3/8 | 4/6NG. | 3375 | 225 | 3500 | 3.766 W —
28A 1/4-20 SF NUT ZP S6B X 4KSI ’POWERS WEDGE BOLT’ 3/8 | 3/ANG. | 3.375 | 225 | 3.500 | 3.766 | n
28B 1/4-20 SF NUT SS 56C X 2KSI SCOTS TAPCON / TAPCON 1/4 | 11/ANG.| 2000 | 150 | 1750 | 3.375 =
29 REINFORCING STRAP 18-8 SS 56D X 4KSI SCOTS TAPCON / TAPCON 1/4 9/ANG. | 2000 | 150 | 1.750 | 3.375 —
30 1/4-20 X 562 BALL SWIVEL ZP S6E X 1.5KSI SCOTS TAPCON / TAPCON 1/4 |11/6NG. | 2000 | 150 | 1750 | 3.375
31A | DAMPER BLADE DRIVE LEVER SS S6F X €5KSI Fy|BOLT/NUT OR TAPPING SCREW| 1/4 | 7/ANG. | 1000 | 050 | 0425 | 3.766 RI C E
31B DAMPER BLADE DRIVE LEVER GALV. STEEL S6G X 65KSI Fy|BOLT/NUT OR TAPPING SCREW| 1/4 6/ANG. | 1000 | 050 | 0125 | 3.000
32 DAMPER MANUAL QUAD ASSY. S6H X | SG 042 LAG 3/8 | 5/ANG. | 1500 | 150 | 2875 | 3766 ENGINEERING
33 5/16 DIA. LINKAGE ROD ZP 561 X | SG 0.42 LAG 3/8 | 4/6NG. | 1500 | 150 | 2875 | 3.000 105 School Creek Trail
34 #10 X 3/4” TPH SMS 18-8 SS 18-8 SS GENERAL NOTES: Luxemburg, W1 54217
35 #10 X 1 1/4” SMS 316 SS 316 SS 1. IT SHALL BE THE RESPONSIBILITY OF THE PERMIT HOLDER TO VERIFY THE STRUCTURAL INTEGRITY OF THE EXISTING STRUCTURE TO SUPPORT THE Phone: 920.845.1042
36 1/4* DIA, SS SCREW 1 1/2° LONG LOADS IMPOSED BY THE LOUVERS. 9o RAE
5 74" DIA_SS SCREW TIONG 2. THE SCHE0TMD AND SCHE01MD/VCD—40 HAVE BEEN DESIGNED AND TESTED IN ACCORDANCE WITH THE FLORIDA BUILDING CODE (FBC) AND TEST Fox:  920.845.1048
PROTOCOLS TAS—201 (IMPACT), TAS—202 (UNIFORM STATIC PRESSURE), AND TAS—203 (CYCLIC FATIGUE). THE SCHE01MD/VCD-40 HAS BEEN TESTED www rice-inc.com
38 1/8° DIA. BLIND RIVET ALUMINUM N ACCORDANCE WITH TAS—100(A)—95 (WIND DRIVEN RAIN).
394 DEAD LOAD SHIMS NOT BY GREENHECK 3. MAXIMUM SINGLE SECTION SIZE IS 72 WIDE X 144" HIGH. Florida Firm No: F-01000005061
39B SEALANT AND BACKER ROD NOT BY GREENHECK 4. MAXIMUM ASSEMBLED LOUVER SIZE IS UNUMITED WIDE X 144" HIGH. T ificat f,A.\ thorization: #9090
0 S T/4 X b X 174 ANCLE 06375 ALUMINGN CSED AT JAMB OF LOUVER/SLEEVE 5. ssd-:é:;'lg%s A?f Sigga%gsuégég g%%E% |-:VE|§)T1'J(\:/'ELRL.Y PROVIDING A SUITABLE STRUCTURAL SUPPORT IS DESIGNED AND INSTALLED BY OTHERS TO Certificate of Authorization:
41 4" CHANNEL 6061-T6 ALUMINUM USED AT JAMB OF LOUVER/SLEEVE 6. CONCRETE MASONRY SHALL BE ASTM C90, TYPE Il, 2,000 PSI GROUT—FILLED. L. David Rice
42 MULLION SLEEVE BRACKET S052-H32 ALUMINUM 7. THE SLEEVE MOUNT STYLE LOUVER UTILIZES AN ANCHORLESS INSTALLATION METHOD THAT DOES NOT REQUIRE THE USE OF FASTENERS INTO THE Registration No: 50923 e
43 1174 X 1 1/4 X 1/8 ANGLE 6063-T5 ALUMINUM MIN SIZE, JAMB ATTACHMENT ANGLE Sg%sgm.?mg ;‘#JUEEU&ET?,&TLESR:%ASJ Ti”EB%E%‘t,TgTJ;‘éT WILL WITHSTAND THE LOADS TRANSFERRED TO [T BY THE LOUVER. AROLITE DOES NOT /
44 SILL DAM ALUMINUM 8. THE CONTINUOUS ANGLE MOUNT STYLE UTILIZES A CONTINUOUS JAMB ANGLE THAT IS ATTACHED TO THE SUBSTRATE BY FASTENERS. [T MAY BE /
5 BLADE SUPPORT, OPTIONAL €063-T5 ALUMINGM ::%Tékﬁ g:_ gggcslalggm%gs%%%#u gER. WOOD ACCORDING TO THE FASTENER SCHEDULE. AIROLITE DOES NOT DETERMINE THE STRUCTURAL
46 STEEL MULLION END CAP (SM) STEEL FACTORY WELDED TO MULLION 9. LOUVER ASSEMBLY IS QUALIFIED FOR A MAXIMUM DESIGN LOAD OF +/— 150 PSF.
(AN W O ol S AR | TR eI T IO T e O e ey s SR, B[S
:g SATLEUEM" MMUUL'LLILT EENNDD ci\f (T_LGG)) 5052—H§£Ei'l:UMINUM E:gggz ﬁtggg ig :ﬂttig: 11. LOUVER ASSEMBLY WITH THE VCD—40 DAMPER MAY BE INSTALLED IN A LOCATION WHERE THE ROOM BEHIND THE LOUVER IS NOT DESIGNED TO =
DRAIN WATER PENETRATING INTO THE ROOM OR THE ROOM WILL HOUSE NON—WATER RESISTANT/WATER PROOF EQUIPMENT, COMPONENTS, OR =
S50 |MULLION MOUNTING ANG, BRACKET| STEEL 36 KSI, OR 6061-T6 MULLION MOUNTING ANGLE, H<144 ' ?#;ﬁsé Tlaog\é%%l séssggg& #&H glf_:omggmf& 'ﬁiﬁ‘é‘aﬁﬁ‘fg’ks'sat‘é‘JEEJ° AN ELEVATION OF 33 FT ABOVE GRADE. = i E
oL 174" DiA. THREAD STUD SS OR PLATED STEEL 1727 MIN. LONG 13. THE VCD—40 MAY BE OPERATED BY THE MANUAL QUADRANT SHOWN ON PAGE 14/21 OR BY AN ELECTRIC OR PNEUMATIC ACTUATOR. THE DAMPER'S 7 / TATE GF S S
*EMBEDMENT DEPTH IS EQUAL TO OVERALL FASTENER LENGTH FOR CONCRETE/CMU FASTENERS. ACTUATOR IS NOT PART OF THIS APPROVAL, BUT SHALL BE CERTIFIED BY AN INDEPENDENT TESTING AGENCY. Ko/ ._"F/ OP\OY:‘.‘.-' \:Sa..,:*
IF SHIMS ARE USED, FASTENER LENGTH MUST BE INCREASED BY THICKNESS OF SHIMS. 14. FRAME CONSTRUCTION. HEAD AND SILL ARE SQUARE CUT. JAMBS ARE SQUARE CUT @ HEAD AND SILL. CORNERS ARE SECURED WITH (2) #10x1-1/4 /AR %(9 R
SMS AND SILICONE SEALED. BLADES ARE SECURED TO JAMBS WITH (2) #10x1—1/4 SMS AND WELDED @ EACH END. VT CRA AR
15. STEEL/STAINLESS—STEEL/ALUMINUM PARTS MAY BE MADE OUT OF ALTERNATE ALLOY THAT HAS EQUAL OR GREATER YIELD STRENGTH. / Ytrpk ONAL oy
16. BLADE SUPPORT ANGLE (AND OPTIONAL BLADE SUPPORT BRACKETS) ARE ONLY REQUIRED WHEN ACTUAL LOUVER SECTION WIDTH IS GREATER P 0 3 2010 GO

36 INCHES.




@]
S
—-] |eo—m \ Y
5.723 - | 5.723 - - 6.000 r—»l— 1.063 1.250 0 N N
Lod
o - ————) E% L =
Q, Q O g —
3 3 T > Q
0 0.081 - =
S © 2 | l L0 g 2 F T
o o m — S
(1o} ™ Q ZEL.J = g8 O
2 s 5 |1 2 )
l LOUVER HEAD LOUVER BLADE l o o 2 18 15 5
6063—T5 ALUMINUM 6063—T5 ALUMINUM H LOUVER SILL IR g S
6063—T5 ALUMINUM = © —
2 Z
S O <«
' - LOUVER JAMB g | x = |
~ — | |=— 0.250 —] 0.125 58 | W n u
S i 6063—T5 ALUMINUM 281 > »n L]
N 0 . & e g —
ot LOUVER JAMB M %5 © B =
o S SUPPORT_ANGLE o ] ——— oud 1 5 o O
& ) ~ 6063—T5 ALUMINUM S — @ o5 z &
— coe OO =
: ’E] — ] - —={ |=— 0.125 OPTIONAL JAMB fn\?'—&\ s == %
? ? [ { 6063—-T5 ALUMINUM - £ —
1 . o O O
1.741  |=— 1 1500 | o @Q<Z(<
LOUVER/DAMPER FLANGE ° n 0000 " 3 N S o e
LOUVER BLADE_SUPPORT & - >
@ 6063—T5 ALUMINUM SLEEVE MOUNTING ANGLE I | e}~ 0.125 N o ;
6063—T5 ALUMINUM ? U_JI
‘ 2 S
6.000 - —={ 1.500 i =
—{~—0.123 LOUVER SLEEVE
{ ATTACHMENT ANGLE RICE
ANNANNANNANNANNANN \\\ . 6063—T5 ALUMINUM f —
A\ i I ENGINEERING
N N\ oy ' 105 School Creek Trail
o o Luxemburg, Wi 54217
= N N\ - Q LOUVER SLEEVE FLANGE Phone: 920.845.1042
S N 0.313 —— N~ — S SUPPORT_ANGLE Fax.  920.845.1048
- \ ? P 6063—T5 ALUMINUM www fice-nc.com
N N 1638 =
\K & —| 1500 . "-}_ Florida Firm No: F-O]QOOQOSO(S]
\\ \\ \\ \\ \\ \\ \\ LOUVE':_\, Sl = * EeDrgtllicsz?cc;f Au’rhonzohon:l#9090
"PAN_ANGLE LOUVER BLANK—OFF ' Registration No: 5097,9// e
@ STEEL TUBE 6063—T5 ALUMINUM 6063—T5 ALUMINUM & i
A6 ] PROOUCT REVISED /
(o) sTrTE OF
bm,,o WD\X,&
SEP 03 poip {2 ONAL B
SO




’<’— 4.000
“

_
=

0.081
{8)!

|<— 0.875

DAMPER HEAD/SILL
6063—TS5 ALUMINUM

0.500

>

0.125 _DIUH
_llY

20 DAMPER LINKAGE BAR
MATERIAL VARIES

<'—|>t— 1.000

<+— 0.125

t<'— 2.500 —'>|

DAMPER JAMB
6063—T5 ALUMINUM

|
|
(%)

—

(

N’

0.062 —

0.618

0.376

[<+— 0.655

4.000

DAMPER BLADE
6063-TS5 ALUMINUM

DAMPER AXLE BUSHING (.445" LG.
MATERIAL VARIES

LOUVER JAMB

SUPPORT CHANNEL
6061-T6 ALUMINUM

LOUVER JAMB
SUPPORT ANGLE

6063—T5 ALUMINUM

B
6063—T5 ALUMINUM

—= 1.250

LOUVER JAMB
ATTACHMENT ANGLE

0.750 —=]

—= 2.000 L-
—= 1.584 l<—

0.063 —!>”<"_—i

_

e

">l 1.000

DAMPER SILL DAM
ALUMINUM

OPTIONAL BLADE
SUPPORT BRACKET
6063—-T5 ALUMINUM

DAMPER BILADE SEAL

479

—4%0219

E 0.317
=

0

)

MATERIAL VARIES

I<!— 3.620 ———*>‘

)

—= [|=— 0.375

@)

PIN
BUSHING
RETAINING RING

NON—-DRIVE DAMPER AXLE ASSY.

MATERIAL VARIES

MULLION SLEEVE BRACKET
5052—-H32 ALUMINUM

2.310

—

DAMPER JAMB SEAL
.007" SS

R

2.125

-

@)
./

PRODUCE REVISED
a8 camnplying with the Fionide

SEP 0 3 2010

O
d S
4 Y
< 1.061 Ny —
! 0.061 | 10 N N
L
u s | b | =
O g 5
i 1l oko
oN|d 5
DAMPER ToP/BOTTOM [&d| 22 N 8 L
CLOSURE z< | |5 & O
ALUMINUM : | [ a )
R S
KNURL PIN 0 —
M : '”'U' 2.8 Z
© 23 2 o
|< 3.620 S, O <«
bBd|E= 1,
(1] ) 281> »n 8 W
S2 )
; N ! |:r 5 =2 2 > =
PIN %9‘4’ OGS L
<8 - S o O
LEVER 22 A Z N K
rﬂ\gl—&: s E = Q-
| Z
DRIVE—SIDE_DAMPER AXLE ASSY. S5 0ok
MATERIAL VARIES © O Z <
) < T D <C an
) 5=
b=
W —
Woom
-
|_
I RICE
v ENGINEERING

105 School Creek Trail
Luxemburg, Wi 54217
Phone: 920.845.1042
Fax: 920.845.1048
www rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090

Registration No: 50923

L. David Rice //

AW
@\‘“@E&\”@ ., '
NG E NG
NG E N G
N




—c>| 1.584 |<»—
ALUMINUM
MULLION
LOCATION

o

o

3 HW

ALUMINUM MULLION END CAP
FOR_SLEEVE MOUNT
5052-H32, 0.25 ALUMINUM

LIFTING LUG

DESCRIPTION
20.375/0.50 FOR 1/4¢ FASTENER IN ALUMINUM/STEEL
20.563/0.75 FOR 3/88 FASTENER IN ALUMINUM/STEEL
2FASTENER SPACING DISTANCE
2FASTENER CLEARANCE HOLE DIAMETER
2FASTENER SUBSTRATE EDGE DISTANCE
ROUP CENTER CENTER OF FASTENER HOLE PATTERN

I

STEEL MULLION END CAP
FOR SLEEVE MOUNT
0.313 STEEL

B
C
D
G

—

LENGTH

QUANTITY VARIES WITH
/' FASTENER TYPE

5 o

ALUMINUM
B B {4{ ¢

MULLION
[ SUBSTRATE EDGE

1

LOCATION

> =

FIELD DRILLED

[s——— 4.0 MIN ——

\_ QUANTITY VARIES WITH
FASTENER TYPE

ALUMINUM_MULLION END CAP
FOR_CONTINUOUS ANGLE MOQUNT
5052—-H32, 0.25 ALUMINUM

I}

’<—

LENGTH

CENTERED

i
A

QUANTITY VARIES WITH
FASTENER TYPE

QUANTITY VARIES WITH
FASTENER TYPE

FIELD DRILLED

STEEL _MULLION END CAP
FOR CONTINUOUS ANGLE MOUNT

0.313 STEEL

DRAIN HOLE FOR PAINT PROCESS

LOCATION

—t—

LENGTH
SUBSTRATE EDGE

WELD BREAK ALLOWED
AT GUSSET(S)

6.0 MIN —— —

EXTRUDED ANGLE OR
WELDED PLATES

0.125

&

E D

Ll

(6]

[

>

(@]

2 4

© /

i °/
/ B

NS

/
/' B/2

\

'0'0‘0‘0'0'0'0'0"‘0'0‘0'0‘0'0'0‘0'0‘0‘0‘0“‘0‘0’0’0‘0’0‘0”\

GUSSET SUPPORT

I

N

(IF REQUIRED) TWO WELD STYLE
4"x4" TRIANGLE VARIES —o~ pea— OPTIONS
ONE AT CENTER +2”, =
OR ONE NEAR EACH END uSJ
[}
A /L
= FILLER
wn -
{K c T/4 N\ T00L=NN T LENGTH
] ;ﬁ:{>i \/FILLER
QUANTITY VARIES WITH
FASTENER TYPE \Q
O SIDE VIEWS  FILLER MAT'L
SHOWN AT ALUM=4043 OR 5356
1/2 SCALE STEEL=E70XX

M

ULLION MOUNTING BRACKET ==
FOR CONTINUOUS ANG
VARIES, SEE B.O.M. & TABLES BELOW

MOUNT

MULLION MOUNTING BRACKET TABLE, 1 OF 2 MULLION MOUNTING BRACKET TABLE, 2 OF 2
LOUVER|SUBSTRATE] LOUVER |GUSSET MIN CUT! MAT'L | PROCESS LOUVER [SUBSTRATE] LOUVER GUSSET|MIN CUT] MAT'L PROCESS
HEIGHT |LEG  THK.|LEG THK.| THK. LENGTH| TYPE TYPE HEIGHT | LEG THK,|LEG THK. THK. |LENGTH| TYPE TYPE

fd <144 21/2 21/2 NA 165 |6061-T6|EXTRUDED <96 21/2 21/2 NA 6.6 16061-T6|EXTRUDED
S144 27/16 27/16 NA 24 A36 ROLLED <96 23/8 23/8 NA 12.34 | STEEL | ROLLED
S144 21/2 21/2 NA 185 A36 ROLLED <96 27/16 27/16 NA 9 STEEL | ROLLED
s144 25/16 21/4 25/16 20 6061-T6] WELDED £96 25/16 21/4 25/16 9 6061-T6] WELDED
sS144 25/16 23/16  [25/16 20 STEEL | WELDED <96 25/16 23/16  [25/16 9 STEEL | WELDED

SEP 0 3 g

Flo

: 7
o
Q —
e N
L N -
= o) L | =
O g
EO
nf Ny — g ©
Yl oE o B T
ZE‘._.'_ CZQ
(] fama]
: |2 |4 a ()
¥ O T <T
(=N (% T (72 )
I_
<
5 o 3
bgg x =
E§P>m8&
Sk FEEE
X O D>_
ogll O O L
ok FERY:
(D]
£§ED,:§O_
(¥ = =
OOD'D_:
QOOZ{
< ID<D_
O
N = DN
i
5_,3
L wn
'_
=
ENGINEERING

Certificate of Authorization: #9090
L. David Rice
Registration No: 50923

105 School Creek Trail
Luxemburg, Wi 54217
Phone: 920.845.1042
Fax: 920.845.1048
www rice-inc.com

rida Firm No: F-01000005061

Wiy,
NID 5%




